Lon3 D/\//\S/‘on /DI‘OA/Q/V/\f

Practice 4B: Chapter 5, pages 46-49

1,861+19 is closest to: (circle one)

100 500 1,000 2,000

19 ) 1 ,861 quotient =

remainder =

16,132+51 is closest to: (circle one)

30 80 320 1,400

51 ) 16,132

quotient =

remainder =
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9,124 +18 is closest to: (circle one)

90 500 1,000 2,900

18 9,124 quotient =

remainder =

14,500+63 is closest to: (circle one)

25 50 100 200

63) 14,500 7T

remainder =



Lon3 D/\//\S/‘on /DI‘OA/Q/V/\f

Practice 4B: Chapter 5, pages 46-49

1,895+16 is closest to: (circle one)

25 50 100 500

16 ) 1 ,895 quotient =

remainder =

62,482+72 is closest to: (circle one)

40 150 400 900

72 ) 62,482

quotient =

remainder =
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7,247 +35 is closest to: (circle one)

20 200 800 1,500

35 7,247 quotient =

remainder =

14,706+12 is closest to: (circle one)

500 1,200 3,000 5,000

12) 14,706 T

remainder =



Lon3 D/\//\S/‘on /DI‘OA/Q/V/\f

Practice 4B: Chapter 5, pages 46-49

1,082+42 is closest to: (circle one)

25 80 150 500

42 1 ,082 quotient =

remainder =

20,891 +49 is closest to: (circle one)

50 200 400 900

49 ) 20,891

quotient =

remainder =
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6,281 +61 is closest to: (circle one)

9 50 100 900

61 6,281 quotient =

remainder =

16,812+73 is closest to: (circle one)

23 50 100 250

73)16,812 T

remainder =



Lon3 D/\//\S/‘on /DI‘OA/Q/V/\f

Practice 4B: Chapter 5, pages 46-49

6,712+40 is closest to: (circle one)

40 80 160 400

40 6,71 > quotient=

remainder =

51,256+72 is closest to: (circle one)

50 120 700 3,200

72 ) 51,256

quotient =

remainder =
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32,168+22 is closest to: (circle one)

15 150 500 1,500

20 3’21 6 quotient =

remainder =

49,842 +46 is closest to: (circle one)

100 300 1,000 3,100

46) 49,842 VT

remainder =



Lon3 D/\//\S/‘on /DI‘OA/Q/V/\f

Practice 4B: Chapter 5, pages 46-49

2,622+81 is closest to: (circle one)

30 90 150 500

31 2,622 quotient=

remainder =

91,300+97 is closest to: (circle one)

100 900 2,500 5,000

97 ) 91,300

quotient =

remainder =
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8,208+52 is closest to: (circle one)

20 90 160 900

50 8,208 quotient =

remainder =

29,048+12 is closest to: (circle one)

120 500 1,200 2,400

12) 29,048 T

remainder =



:

19 ) 1,861

51 ) 16,132

:

16 ) 1,895

72 ) 62,482

42 ) 1,082

:

49 ) 20,891

:

40 ) 6,712

72 ) 51,256

:

81 ) 2,622

97 ) 91,300

Long Division Problems Key
Practice 4B: Chapter 5, pages 46-49

quotient=_ 97

remainder = ﬁ

quotient = 316

remainder = 1

quotient = 118

remainder = 7/

quotient = ﬂ

remainder = 58

quotient = 25

remainder = 32

quotient = 426

remainder = 1 7

quotient = 167

remainder = i

quotient = 711

remainder = 64

quotient=_ 32

remainder = ﬂ

quotient= 941

remainder = 2
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:

18 ) 9,124

63 ) 14,500

:

35 ) 7,247

12 ) 14,706

:

61 ) 6,281

73 ) 16,812

:

22 ) 3,216

46 ) 49,842

:

52 ) 8,208

12 ) 29,048

o

quotient =5_06

remainder = ﬁ

o

quotient = 23

remainder = 1 0

~

quotient = 20

remainder =

2
quotient= 1225

remainder =

6
02

quotient =

remainder = 5_9

quotient = 230

remainder = 22

quotient = 146

remainder = 4

quotient = 1083

remainder = 24

quotient = 157

remainder = 44

quotient -2420

remainder = 8



Lon3 DivisSion 7/:2/)7?/62{85

Practice 4B: Chapter 5, pages 46-49

> quotient =
remainder =

quotient=
remainder =
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quotient =

remainder =

quotient=

remainder =



